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Algebra: Factoring and Expansion
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A) 13




B) 5



C) 2x + 5



D) 10x + 13




E) 10x + 5

What value(s) of x should your solution work for? ___________
Try some values and see if the answer works ;)
_______________________________________________
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What value(s) of x should your solution work for? ________

Try some values and see if the answer works ;)
Factoring with Evenness and Oddness

The general formula for a quadratic equation:
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A
(x + 4)(x + 6)

B
(x + 8)(x + 3)

C
(x + 1)(x + 24)

D 
(x + 2)(x + 12)

_______________________________________________
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A
(x + 6)(x + 6)

B
(x + 2)(x + 18)

C
(x + 1)(x + 36)

D 
(x + 4)(x + 9)

Now factor this one from scratch
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Factoring with Evenness and Oddness
The general formula for a quadratic equation:
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A
(40x + 1)(2x + 1)

B
(10x + 1)(8x + 1)

C
(16x + 1)(5x + 1)

D 
(20x + 1)(4x + 1)

_______________________________________________
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A
(20x + 2)(2x + 20)

B
(10x + 5)(4x + 8)

  C
(40x + 1)(x + 40)

D 
(8x + 5)(5x + 8)

Now think of one or two more ;)

Word Problems

Things Are Not as They May Seem
Quantitative Comparison Example

Key

A if A is always larger

C if A and B are always equal

B if B is always larger

D if the relationship cannot be determined

You travel uphill at 40 mph and return on the same route downhill at 60 mph.  

What is your average speed x? (in mph)  

A


B

x


48

Multiple Choice Example

A suit is on sale for $100 after a 20% discount. What was the original price?

A) $ 120

B) $ 125

C) $500

D) $80

Dividing by Zero 
Topics:  
Writing division as a fraction



Crossmultiplication
Dividing by fractions

Dividing by zero

Questions to Ask:
What do we need to get our 12 back?




How many half dollars, dimes, pennies in $12?

What number can you put there that when you crossmultiply you get your 12 back?

And, do they like to crossmultiply  or they don’t think it works?    
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Dividing by Zero Extensions 

with Graphing and Precalculus Concepts

Quantitative Comparison

A if A is always larger


C if A and B are always equal

B if B is always larger


D if the relationship cannot be determined

A



B
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_______________________________________________

Graphing the Rational (Reciprocal) Function
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Graphing the Tangent Function at x=90
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Zero and Negative Exponents
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A) 2

  B) 16

C) 0

  D) 48
_______________________________________________

Scientific Notation ( 
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) as an Example:
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